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BecomeIdle

Process
CS

AccessCS

[j <> N-1]
ProgressTurn

Identity[i <> k]
NoIdentity

ProcTourProc
TestIdentity

UpdateTurn

<Tour.all, 0>
TourProc
Turn

ProcTour
TestTurn

ProcBool

<Process.all, F>
WantSection

ProcTour
AskForSection

Ask

Process
<Process.all>

Idle

CLASS
  Process is 0..N;
  Tour is 0..N-1;
  Bool is [T, F];
DOMAIN
  ProcTour is <Process, Tour>;
  TourProc is <Tour, Process>;
  ProcTourProc is <Process, Tour, Process>;
  ProcBool is <Process, Bool>;
VAR
  i in Process;
  k in Process;
  j in Tour;

TurnEqual

ProcTourProc
BeginLoop

[i<>k]

TurnDiff

ProcTour
EndTurn

ContinueLoop

ProcTourProc TestAlone

NotAlone
Alone1

[k <> N]
Loop

ProcTourProc
IsEndLoop EndLoop




